B H 2024/10/1

REX

/\»f/ \—‘/— XS130S

T I T -

% 2009F 1A

N /N\—)—130S




BEHABE  2024/10/1
380131 /\//\—)—130S




380131 INIS=—Y—XS130S EHA  2024/10/1

HE| BaES ETYP BE| BEET BE

1 HPYO1 [+ TJAR2A4va—F (1. 25X2CX2.5M VCT) 1 3, 950

2 HPX02 |[2a—FK7—% 1 470 XS150S XFE2+ FRE S
3 HPY02 [R/SFRILAE (K) 1 460

4 HPY03 |/RA#ER/NF (FET16) 1 170

5 HPX03 |2 v E #l (M4 x 16 5% ) 2 170 XS1508 HFEILAEGH
6 HPY04 |FEES (pdx p8x1) 4 170

7 HPX04 [a—FKHyYw T 1 170 XS150S XFEAHLAE T
8 HPY0S (R4 v F 1 2,390

9 HPX05 |2 v E>#l (M4 x 20 455 &) 4 170 XS150S [XFESAER G
10 HPX06 |2 v E>#l (M5 x 30 455%&m) 4 170 XS1508 X ZFE6 ARG
1 HPYO6 [D/\> KJL (R) 1 2,180

12 HPYO7 [D/\> KJL (L) 1 2,180

13 HPX11 2vE L (M4 x 30 455%&m) 2 170 XS150S HXFE11ELAERH
14 HPYO8 [(a>vbkA—5a1=w bk 1 20, 980

15 W242 TRIMR L (M4x10) 1 170 XS1508 XZF 16 A
16 Wi42 ERES (pdx p10x1) 1 170 XS150S HXFE1THAERH
17 HPX58 |#iAET w < (pdx Pp11x1) 1 170 XS150S X ZE58 AER G
18 HPX18 [T 45 %w k 1 1,260 XS150S XF 18 AER M
19 HPX19 [RAXR—H 1 470 XS150S XFE 19 AER G
20 W752 NANTILEDHR L (< [FAHEMS % 6) 2 170 XS150S [XFE59i FAER G
21 HPX13 |[h—R RIS (7x11) 2 1,080 XS150S XFE13ELAERM
22 HPX14 [(A—FR> TS5 (ITx11x17) 2 910 XS1508 HIF/14L A
23 HPX15 |Ah—RoFv v 2 520 XS1508 XZFE 15 A
24 HPX20 (/o4 1 8, 280 XS1508 [XZFE20+ AE G
25 HPY09 |[#&tR —IL 1 —

26 HPY10 |[#4& 2 —IL 1 —

27 HPY11 [RF—4 (100V) 1 13,110

28 HPX22 |[IEHESHEAAEZ v E RL (M5 % 60) 2 170 XS1508 [XZFE22+ AE G
29 HPY12 (27 >HA K 1 1,320

30 S373 7Yy (60827) 2 1,080 XS150S8 X ZFE24+ AEGH
31 HPY13 [7Z<F a7 (100V) 1 27,960

32 HPX26 |7 1) 25 (BT —ILRZ) (6001LLU) 1 1,190 XS150S [XFE26i AER G
33 HPY14 (2w a3 h—XA 1 15, 900

34 HPY15 |[[EHESHAAFEZ v E R L (M5 x 45) 4 170

35 WW17 EHFHCEY IF 6HiR (RETAT) 2 170

36 HPY16 | (M1. 25 % 47T) 1 14, 240

37 HPY1T (o229 1 10, 690

38 HPY18 |+— (5x5x10) 1 400

39 JeAACE! I & (FETX35) 1 170

40 HPY19 [(RF7 Y245 (600377) 2 3, 700

41 HPY20 |[ax& T4 Ov K 1 17,160

42 HPY21 AR LI 1 970

43 W552 S RiIhRLC (M5 x 8) 5 170

44 HPY22 [REY KL 1 13,730

45 HPY23 (A& LK 1 4,500

46 HPY24 (A4 L —IL 1 1,790

47 HPY25 (A A ILS—ILTw ¥ 1 170

48 HPY26 (2 xzI)ILbkTDwyi+w 1 690

49 HPY27 |5 o RILAE— 1 2,940

50 HPY28 |R7 1)y (B —ILTZ) (6002LLU) 1 4,330

51 HPY29 (2w i3 Hh—AB 1 21, 360

52 HPY30 |[FEES (pb6x p18x2) 1 170

53 WG06 £ ES (¢6) 1 170

b4 W066 NATFTRIL k (M6 x 35) 1 170

55 HPY31 |(R7 Yo Hxvw T 1 370

56 HPY32 |IFtaE£RiAHA4a L (M5 x 25) 4 170

57 HPY33 |V—hRILEFHhS— 1 5,990

58 WL36 oO—J)LEY (p3x18) 1 170

59 HPY34 (OvwsHEY 1 3, 820

60 HPY35 |[Efsa 1 LIt 1 170

61 HPY36 |V —RILE /A 1 270

62 HPY37 |V —hILE /T 1 1,820

63 HPY38 |EhFHCEYIE HiER (RETR21) 1 170

64 HPY39 ([ a—TL— 1 6, 620

65 WG08 £ ES (¢8) 1 170

66 Wo81 NATATRIL k (M8 x 16) 1 170

67 HPY40 (T LAH/N— 1 5,140

68 HPY4l |Fx o HHr—2R S— LR L 1 10, 940

69 HPY42 |[r—R—)L 1 — FHEAT




